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Grandparents
DAY

we celebrate Grandparents !
F Doy On the first sunday after §
. Labor Day each vear. It is a day 1
L 1O hONOr Our 9randparents.

I made my 9randparents a |
. card for their special day. Inside i
f the card, I drew Ppictures Of Us §
- plaving to9ether.

I think 9randparents are 4
| SpecCial because they are very j
- wise. They  can 16dch  theil |
¢ 9randchildren 10ts of things!
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1 . What day Of the week do we ’

P§  celebrate Grandparents bay?

17 2. Why do we celebrate -
‘: . Grandparents Day? L
4 e S j )
PR 3 What did the 9irl in the story &
‘ . 9ive her 9randparents? ,_ ’
P & whodidthe 9l inthe story I
¢  i1ink 9randparents are ‘
‘ | special? -: ,
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Relate Addition and Subtraction | A

Add. Then write a related subtraction sentence.

1.6+2=_1%s i 4+5=__
2.3+6=___ P2+ u=_
3.5+6=____ i 8+T7=__

4.1 +5=___ . 9+3=___

Is the addition related to the subtraction? Write yes or no.

5.5+5=10 | 8+2=10 | 1+9=10
0-5=5 | 8-2=¢6 L 10-1=9
6.2+9=11 | 6+6=12 | 4+3=7
11 —2=9 | 6—6=0 i 4—-3=|

Problem Solving

7. Keesha counts 9 bugs. | There are | | grasshoppers.
Ronnie counts 2 bugs. 2 grasshoppers jump away.
How many bugs are there How many grasshoppers
inall? : E are left?

bugs | 5 grasshoppers






